
qm= ;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot

s
1

s[lif{ sfo{qmd -s[ifs ;d"x u&g kl/rfng, s[ifs Joj;foLs/)f pGgt, 
la[pljt/)f, 12 kf; o'jf nlIft s[lif, s/];fjf/L, t/sf/L v]tL, 
df}/Lufp“ lgdf{)f, zq'ls/f lgoGq)f_

j*f g+= 8, a/fª\bL 300000.00

2 kz' ljsf; sfo{qmd -s[ifs / ljb]zaf^ kms]{/ cfPsf o'jfx?sf] nflu 
Joj;flos kz'k+IfL kfng, ;+/If)f Joj:yfkg, #f; pTkfbg ;d'x u&g, 
ahf/Ls/)f, kf*fkf*L ;+/If)f sfo{qmd / kz' cf}ifwL vl/b _

j*f g+= 8, a/fª\bL 200000.00

hDdf M 500000.00

v

1 j]b df= lj= a/fªbL ljb\ofno z}lIfs u')f:t/ a[l$ gof“ k|lalw yKg] j*f g+= 8, a/fª\bL 200000.00

1 dlxnf sfo{qmd -cfoa[$L s[ifL, kz'k+IfL kfng sfo{qmd / l(sLemftf]  _ j*f g+= 8 j/fªbL 100000.00

2 o'jf sfo{qmd -o'jf /f]huf/ pGd'v s[ifL / kz'k+IfL kfng sfo{qmd  _ j*f g+= 8 j/fªbL 100000.00

3 hghftL sfo{qmd -cfoa[l$ s[lif / kz'k+IfL kfng _ j*f g+= 8 j/fªbL 50000.00

5 ckf· sfo{qmd -cfoa[l$ s[lif / kz'k+IfL kfng _ j*f g+= 8 j/fªbL 50000.00

6 blnt sfo{qmd -cfoa[l$ s[lif / kz'k+IfL kfng _ j*f g+= 8 j/fªbL 30000.00

7 h]i&gful/s sfo{qmd -h]i&gful/s ;fxf/f ;fdfu|L v/Lb / ;Ddfg_ j*f g+= 8 j/fªbL 50000.00

8 afnaflnsf tkm{ afnaflnsf ;'gf}nf] eljio pGd'v j*f g+= 8 j/fªbL 30000.00

hDdf M 410000.00

wfld{s tyf ;f+:s[lts tkm{ M 

1 j*f sfof{no kl/;/ l#ld/]*f“*f cw'/f] rf}kf/L lgdf{)f j*f g+= 8 j/fªbL 100000.00

hDdf M 710000.00
u
1 a/f·bL df]^/ af^f] ;/;kmfO{ of]hgf j*f g+= 8, a/fª\bL 200000.00

2 a]nf}tLvs{ ldf]^/ af^f] :t/f]pGgtL  lgdf{)f of]hgf j*f g+= 8, a/fª\bL 500000.00
3 l#p;Laf; vfg]kfgL ^+sL lgdf{)f of]hgf j*f g+= 8, a/fª\bL 150000.00
4 a'N&fs] b]lv wf/fkfgL latf{ x'b} cr{n]vf]nf df]^/ af^f] lgdf{)f / 

:t/f]pGgtL of]hgf j*f g+= 8, a/fª\bL 150000.00

5 (favf]nf a;kfs{ b]lv dtLu}/f u|fe]]lnª c#'/f] of]hgf df]^/af^f] 
:t/f]pGgtL 

j*f g+= 8, a/fª\bL 500000.00

6 l#ld/]*f“*f Hofld/] x'b} kmnfn] df]=af :t/f]pGGtL j*f g+= 8, a/fª\bL 300000.00

7 dtLu}/f vf];]{vfnf cf?kf^f df]=af :t/f]pGgtL j*f g+= 8, a/fª\bL 200000.00
8 gf·]*f“*f df]=af= lgdf{)f lgdf{)f of]hgf j*f g+= 8, a/fª\bL 100000.00

9 b]p/fnL Gof}kfg] *f“*f df]=af of]hgf j*f g+= 8, a/fª\bL 100000.00

10 l#ld/]*f“*f a]nkf^f v/la^] ^«]ls* df]=af lgdf{)f of]hgf j*f g+= 8, a/fª\bL 100000.00

11 #f/]vf]nf vfg]kfgL kfO{k / ^+sL tf/af/ of]hgf j*f g+= 8, a/fª\bL 100000.00

12 (fjvf]nf af;u}/f ^]«ls* df]=af lgdf{)f of]hgf j*f g+= 8, a/fª\bL 100000.00

hDdf M 2500000.00

k"jf{wf/ ljsf; If]q tk{m M

augf;sfnL ufp“kflnsf
8 g+= j*f sfof{no, a/f·bL, kfNkf

cGo -nlIft ju{_ M 

cf= j= @)&^÷&& sf nflu j8f ;ldltaf6 kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M



#

ª
1 j*f sfof{no Joj:yfkg  j*f g+= 8 j/fªbL 100000.00

2 :jf:Yo rf}sL /+u/f]ug, dd{t, kmlg{r/, :jf:Yo sfo{qmd, pks/)f, 
;]jfu|fxL k|ltIffno / km'njf/L lgdf{)f

j*f g+= 8 j/fªbL 90000.00

 hDdf M 190000.00

s'n hDdf M 3900000.00

ufp“kflnsf x''b}+ k|b]z / s]Gb|df dfu ug]{ of]hgfx? M
1 efn'vf]nf v/LkfgL vfg]kfgL of]hgf 

2 Gof}kfg] *f“*fdf Eo'^fj/ lgdf{)f of]hgf 

3 a/f·bLvf]nf l;rfO{ s'nf] lgdf{)f of]hgf 

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M


